ETHE"FEMNEEHERIEE
B— F2ilikAE
— JEBEB (A4 540 )

1SR — A JUAR] AR ) 3 0 PR 0 2 40 P 249 S S T ARERL BT oA — A [ U5 A JL AT 4R 2 )

(A) #4E. (B) AH#A. (C) | 4. (D) B 4.
2. B M f() = 2t — 4x2* 4+ 102* — 27.g(x) = 2 — 22 — 5x + 6,
A={z| f(x) >0},.B={x | g(x)=0Hax € A}, N B PIcEMPEZ( )
(A) 1. (B) 2. © 3. (D) 2% %.
N ; 1 - -
KT o MR 2 = AR S o RIGER )
(A) (0,1). (B) (1,e). (C) (1, o). (D) (e, +2).

4.1f y* =22 where x and y are real numbers, then the minimum value of 2 =y* 4+ 2? 4+ 4
is( )
(A) 3. (B) 4. (C) 5. (D) 6.
5.8 f(a) R EMBRELIFH (o +6)=f () + f(3) % £(2) =2014, ] £(2014) %F
( )

(A) 2012. (B) 2013. (C) 2014. (D) 2015
6. 5 KT x MIHE | 27 —3 |—k =0 AP AMZERSZHBAR I 2 5B G FE 2 )
(A) [0,3). (B) (0,3). (C) [0, +o2). (D) (—2,3).
7.0 x.y BB H y =22 /38— 2 W y 15 R )
25 97 129
(A) 6. (B)q? © R (D) T

8. & X TAERM S 2 AFX | 2 —1 [~ 2 —a <10 HB W a BYBUETE I ( )
(A) [—3,4]. (B) [—4.,3]. ) [—9,11]. (D) [—11,9].
9. 8% asb.mn € RoH m?n® >a’m?> +0"n*. 2 M=ym? +n> ,N=a+b,W| M 5N K
KANKFRZEC

(A) M > N. (BDM = N. (C) M < N. (D) M < N.
10 HeRE f(2) =2 —2a | x —a |—2ax + 18 HANAE 3 NF AL o EE( )
(A — 1. (B) 0. ) 1. (D) 2.

T EEE (A SR 40 H))

1. BREL £ (o) =20 0 s U .

12.nE 1, =% A —BCD i &5 B.C.D £ i« N,.CA=AB=BC=CD
=DB =2,AD =./6 . #¥iZ =¥ HE VL BC Rk sh, 84 A %31 o N K1k, )
A D Wi T 253 0 IR 2 Al .




13, EHIBRAL £ (o) =2 2 0 (e € 20 SR A A ELAE (0. + oo) [ HE s, U £ 1 i 2

e w 71‘+1sI<O9 - . C
14. 2R %L f(a) = MAERX 2+ +Df(@+1D <3
x—1, =0, D
ﬁg:%% A

15. Wl 2 fF 7R, B0 AB ] ©O THEB.HZ& AC % OO T/HC MD.# AD B

=DC,BC=J2.W|BD= | K 2
6. & S & R L WMWK K H fO = 3./ =— 1. B
MP={z || f+—1]<2},Q={x|flx)<—1).4 P QW F4. MK ¢ WyH

70 Bl

17. 588 (o) =(a +2Dx? —ax + 2a — 1) BIFANE S PILEXK A (—2, — 1D FIXE 0,1
L e B B TS .

18. kT 2 MIAER 2k > (2 —2) 16 4 ANHEEUR N 525 k1Y BUE 70 &

[y =,
19.% m > 1, F 2.y By <mx, B, B 2 =2 +my WEKMEE 4, 1 m BEHEZ
e +y <1

20. As shown in Fig. 3, AB=6, BC=8, CA =10. Point P is inside of the 4
triangle ABC. DE, FG, and IH all pass point P and are parallel to AB, BC, /
and CA . respectively. The lengths of DE, FG and IH are all equal to d » thend f[P
= . (23] 2 ; parallel F47) BEw

= BEH Fig. 3

BRAEG RfELTAE,

21. CRA#H 5 10 59

it fa)=1lgl3—|2—1DMWEXENAESEB={x|2"—(a+Dx+a<<0}.&FAN
B =B, R o W HUE L.

22. CR#ih 5 15 59

1 ANABC Wiasb,c 51l &M AB.C WX, 28 8(sin*A — sin”C) = (a — b)sinB, H
ANABC oM ERPERZ 4.

(D kA C;

(2) 3R ANABC B B 5 KA.

23. CRA 5 15 5

CLHIBREL /(1) =2° + (2 # 0,0 € R,
X

(D) FIWTREL £ () W2
() Mz €[2,+0) B, 4 f(x) W RBL RSB o 1Y HUE 8 .



LIi= 1 2 3 4 5 6 7 10
ZZ | D B B B C B D C
= 11 12 13 14 15
B | (0,+x) NEY: 1552 (—o0,1] 1
k=2 16 17 18 19 20
1 1 9 2 240

g2 —0,-3 — Z<k<Z —

= ] ( 2 4) 50 9 2+47 47

21. [-2,4].

22. (1) 2C==.

b
3
(2) TR ARERE1243.
23. (1) Ma=0p}, f(x)”z%ﬂ%@&;
wa 20, S00) BEA 2 4 B A 1 8
(2) S A B 36 (o0, 16] .






